Symmetrical Fault Calculations
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Example 1

Step 1: Calculate Base Values
34.5kV

SCC = 1200 MVA

kvbzase

Zbase -
VW  10/12.5 MVA MVA:ase
6%
NVYYW = S =11.90hms

_ MVA,,.. 100MVA

| =
13.8 kV "ase KVpae  34.5kV

N

Calculate the fault current at F




Example 1
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Example 1

Step 2: Calculate p.u impedances
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Step 3: Calculate fault current
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Step 3: Calculate fault current
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Example 2 - Addition of a Generator
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Example 2 - Addition of a Generator

Step 1: Calculate impedances
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Example 2 - Addition of a Generator
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Example 2 - Addition of a Generator
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Example 2 - Addition of a Generator

Step 2: Calculate equivalent impedances
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Example 2 - Addition of a Generator
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Example 2 - Addition of a Generator

Step 3: Calculate fault current
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Example 2 - Addition of a Generator
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Example 1 & 2 Comparison
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Example 3 -Presence of transformer & motor
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Example 3 -Presence of transformer & motor
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Example 3 -Presence of transformer & motor
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Example 3 -Presence of transformer & motor
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Example 3 -Presence of transformer & motor
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Example 3 -Presence of transformer & motor

Step 1: Calculate impedances
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Example 3 -Presence of transformer & motor

Step 1: Calculate impedances
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Example 3 -Presence of transformer & motor

Step 2: Calculate Equivalent impedances
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Example 3 -Presence of transformer & motor

Step 2: Calculate Equivalent impedances
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Example 3 -Presence of transformer & motor

Step 3: Calculate fault current
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Symmetrical Fault
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